Region: bin K T1tttt(NC) T1tttt(C) Fitted uP*& (PF) Fitted uP& (GF) Obs.
200 < Emiss < 400 GeV
R1: all Njegs, Npy — 0.1 32  336.0+183 335.3 +18.2 336
R2: 6 < Njets <8, Np =1 — 0.1 02 471469 495+6.9 47
R2: Niets > 9, Np = 1 — 0.1 0.3 70+26 75+27 7
R2: 6 < Njets < 8, Np, =2 — 0.1 03  420+65 411462 42
R2: Niets > 9, N =2 — 0.1 0.5 70+26 6.6+25 7
R2:6 < Njets <8, Np, > 3 — 0.1 02  12.0+35 11.14+3.2 12
R2: Niets > 9, N, > 3 — 0.2 0.6 1.0+ 1.0 09+09 1
R3: all Niets, Npy — 02 38  21.0+46 21.6+42 21
R4: 6 < Niets <8, N, =1 1.12+£0.09 +0.43 0.2 0.2 33+14 3.6+1.0 6
Ré4: Niets > 9, Np =1 0.91 +0.06 & 0.81 0.2 0.4 0.4+0.3 04402 1
R4: 6 < Niets <8, N, =2 1.11+0.06 +0.42 0.3 0.4 29412 29408 2
R4: Njets > 9, Np =2 1.0540.11 £ 0.94 0.3 0.6 0.5+0.3 0.4+02 0
R4: 6 < Niets <8, N, >3 1.25+£0.11+0.47 0.3 0.3 09+04 09+0.3 0
Ré4: Njets > 9, Np, > 3 1.05 4 0.10 £+ 0.93 0.3 0.7 0.1+0.1 0.1+0.1 0
Emiss > 400 GeV
R1: all Njegs, Npy — 0.1 0.5 16.0 £ 4.0 17.1 +4.0 16
R2:6 < Njets <8, Np =1 — 02 0.1 8.0+28 6.8+25 8
R2: Niets > 9, Np =1 — 0.1 0.2 1.0+ 1.0 1.7+1.2 1
R2: 6 < Njets < 8, N, > 2 — 0.5 0.3 30+17 25+14 3
R2: Nigts > 9, N, > 2 — 0.4 0.6 1.0+ 1.0 0.9+09 1
R3: all Niets, Npy — 0.4 0.9 40420 29+14 4
R4: 6 < Niets <8, N, =1 1.09+0.16 +0.42 0.7 0.2 22417 1.2+0.7 0
Ré4: Niets > 9, Np =1 0.98 +0.16 = 0.87 0.4 0.3 02+03 03402 1
R4: 6 < Niets <8, N, > 2 1.29+0.22+0.50 1.9 0.5 1.0+0.8 05+0.4 0
R4: Niets > 9, Np > 2 0.90 +0.14 + 0.80 1.6 1.0 02+0.3 0.1+0.1 0



